HE4%V:

SBUBEN
- KASSEL

RANGLISTE MITGLIEDER +

(MITGLIEDER MIND. 36% GESPIELTE SERIEN)

38. SPIELABEND AM 12.05.20

FR. 08. MAI DI. 12. MAI GESPIELTE SERIEN VERL

RANG NAME SCHNITT| + /- || GEW | VERL
1.SER.| 2. SER.| GES. || 1.SER.|2.SER.| GES. A| V % GEG
= |LOHSE, MI. 2 3 1.235 10,7| 1,3 | 6,0
= |RUHKAMP 2 | 10 1.220 14,429 | 3,6
1 [ = |[BAUCKLOH, A. 8 |34 | 65%| 1.140 11,3 1,4 | 6,2
2 (1 |HONAUER 1.536 | 1.194 1.581 | 1.119 2 |31 ]|56%| 1.087 | +18 |J11,6( 23 | 5,8
3 (1 [mAauL 18 | 23 | 50% | 1.060 11,9 2,3 | 5,0
4 (I [v.ROOS 642 | 781 774 0 |20 |36%| 1.055 | -15 |J12,1| 2,2 | 46
5 | = | BRAUNHAHN 12 | 23 | 47% | 1.039 12,0 2,5 | 44
6 | = [KURING 1.022 | 389 1.261 | 495 12 | 23 | 47% | 961 -8 ||10,7] 2,2 | 46
7 | = |cLAGow 954 | 1.018 1.013 | 943 30 | 54% | 912 +4 |l10,2] 1,9 | 4,3
8 | = |BAUCKLOH, W. 783 | 1.177 950 47 | 88% | 907 + |85 |11 |58
= pust 686 14 | 15 901 10,1 1,9 | 3,5
= |POTTER 16 900 98 (23 |54
9 | = |DELLITH 460 | 567 581 40 | 71% | 891 -8 193 |17 |44
10 | = |BREITFELD 956 546 27 | 49% | 883 13 |1 9.8 | 24 | 47
11 | = JWINTER 137 |1.251 694 16 | 28 | 58% | 881 -7 ||10,7] 2,4 | 3,6
12 | = [KEIM 2 | 24 | 4a%| 866 81 (11|54
13 | = |SKWARSKI 18 | 20 | 45% | 856 9,9 | 2,7 |54
14 | = |[EWERT, w. 30 | 55% | 847 86 |17 |49
= |KNOFEL 948 | 350 873 | 946 12 836 | +15 19,7 |19 | 3,8
15 | = |GANTE 655 | 1.059 919 | 822 10 | 53 |100%| 821 +2 |l10,4]3,0 | 4,3
16 | = |[KUDERLING 813 | 222 39 | 72% | 807 81 |1,7 |48
= |GESSNER 17 792 9,1 |20 |42
17 | = |JEWERT, UWE 30 | 55% | 774 7,7 | 1,4 | 5,7
= |[KRATZSCH 854 | 813 1.233 | 802 10 | 14 745 | +45 |1 6,6 | 0,9 | 5,2
18 | = [KOSSINGER 671 | 707 771 12 | 19 | 40% | 657 +7 171 |16 |36
19 | = |BLAUERT, A. 32 | 58% | 617 62 |15 |46
20 | = |[PORTER 398 | 338 230 (1.115 22 |40%| 557 |+11 |71 |25 ]33
= |LOHSE, MA. - 2 | 4% | 1.239 10,5 | 0,0 | 4,0
= |GRECIC - [ 11 J20%| 836 73|10 |65
= |BOHM - 2 4% 834 65 |00 |70
= |DILCHER - 4 | 7% | 789 78 | 1,5 | 45
= |REITZE, A. - 2 | 4% | 787 75|15 |35
1> |[HEYNER - 3 | 5% | 777 6,7 | 1,0 | 6,7
1 |REITZE, R. - [ 112 J20%| 766 7,9 | 1,9 | 4,7
4 |WIESER 303 | 993 238 - |18 | 32%| 755 311187 |19 |34
= |APPELBAUM - 1 | 2% | 289 50 | 4,0 |90
= |KAUFMANN - 1| 2% 173 6,0 [ 4,0 |20
= |UNBEKANNT - 1 | 2% | -309 8,0 |80 |20
DURCHSCHNITT | 821 93 |18 |48




